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REMINDER: WE HAVE A UNIT TEST ON MONDAY. TODAY (THURSDAY) IS YOUR REVIEW PERIOD AS WE WILL BEGIN THE NEXT UNIT ON FRIDAY. I WILL BE AVAILABLE FOR EXTRA HELP ON THURSDAY, FRIDAY AND MONDAY IN ROOM 211.

I SUGGEST DOING THE TEXTBOOK QUESTIONS FIRST (SEE BOX), FOLLOWED BY THE QUESTIONS BELOW. ALWAYS CHECK YOUR ANSWERS!
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MPM1D – TEXTBOOK REVIEW

Textbook:

Distance-Time Graphs p. 92 #3, p. 97 #12, 13

Partial Variation p. 288 #4c, 5, 6 




Unit Rate/Rate of Change p. 268 #6, 7, 12bc

First Differences p. 289 #13
Graph-Equation-Table-Words p. 285 #8, 14bdef
Linear/Non-linear relationships p. 290 #8
Worksheets:

Complete “Finding Equations from Tables of Values” and “Determining an Equation from a Graph” 


1) A family leaves home at 2:00 pm and travels 175 km in 1.5 hours.
a) Determine the unit rate and an equation relating the time after departure, t in hours, to the distance, d in km.
b) If they continue travelling at the same speed will they reach their destination (which is 450 km from their home) by 6:00 pm?
c) Does this relationship represent direct or partial variation? Justify your answer.
2)  The mass of a box of crackers is 55 grams plus 6 grams per cracker.

d) Write an equation for the mass of a box of crackers.  (Don’t forget to define your variables!)

e) If the total mass of a box full of crackers is 355 grams, how many crackers does the box hold?

f) If there are 53 crackers in the box, how much does the box weigh?
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3)  The graph to the right shows the volume, V litres, of gas in a car’s tank after driving d kilometres.

a) Calculate the unit rate and interpret its meaning in the context of the word problem.

b) Identify the initial value and interpret its meaning in the context of the word problem.

c) Determine an equation for the relationship.

d) Determine (algebraically if possible) the amount of gas left after having driven 155.7 km.
e) A different car has a smaller gas tank but uses gas at the same rate. Draw a line representing the gas usage for this car.
4) Latoya is a sales representative. She earns a weekly salary of $240 plus 15% commission on her sales. Complete the table of values and determine an equation that related her earnings (E) to her sales (S). 

	Sales ($)
	0
	100
	200
	300
	400
	500

	Earnings ($)
	

	
	
	
	
	


5) This graph shows the relationship between the cost of a taxi trip (in $) and the length of the trip (in km).
a) Calculate the unit rate. Interpret its meaning in the context of the problem.


b) Write an equation for the relationship.




c) Suppose the flat fee changed to $5.00. How would the equation and graph change? 


d) Suppose the rate changed to $1 per km. How would the equation and graph change?
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6) Determine the unit rate, initial value and an equation for each set of data.

	Time (t in s)
	Balloon height (h in m)

	0
	2

	5
	4.5

	10
	7

	15
	9.5


	# trips taken
(t)
	$ in piggy bank
(d)

	4
	75

	6
	65

	8
	55

	10
	45
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7) The pay you receive at a job is shown in the scatter plot on the right for various days you worked. Determine an equation for the relationship between your pay and hours worked, and use the equation to predict your pay if you worked for 20 hours. 

8) Ingrid is walking in front of a motion sensor. After 1 s, she is 3.9 m from the sensor. After 3 s, she is 1.7 m from the sensor.

a)   Find and interpret the unit rate for this relationship.

b)   Write an equation of the form d = mt + b that describes Ingrid’s motion.

c)   After how many seconds will Ingrid’s distance from the motion sensor be 0? 

Answers




1a) 116.7 km/h
b) yes (it will take 3.9 h) 

c) direct

2a) m = 6x + 55
b) 50 crackers
c) 373g

3a) –0.1 L/km
b) b = 20 (20L in car at start)
c) V = –0.1d + 20
e)  v = 4.43L

4) E = 0.15S + 240 
5) 0.6 $/km
b) c = 0.6d + 3
6) h = 0.5t + 2       d = -5t + 95
7.   various, approx p = 10h+20; 20 hours worked pays $220
8a) m = –1.1 m/s
b) d = -1.1t + 5

c) 4.5s
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